Characterizations for classical finite hexagons

Leen Brouns Hendrik Van Maldeghem™

Abstract

We characterize some classical finite hexagons as the only generalized
hexagons containing ovoidal subspaces all of whose points are spanregular.

1 Introduction

A generalized n-gon I' = (P, B,1) of order (s,t) is an incidence structure of points
and lines with s+1 points incident with a line and ¢+1 lines incident with a point,
s,t > 1, such that I' has no ordinary k-gons for any 2 < k < n, and any two elements
are inside some ordinary n—gon. Distances are measured in the incidence graph.

If two points z,y are at distance 2, we call them collinear and write x ~ y.

If two points z,y are at distance 4 and n > 4, the unique point at distance 2 from
x and at distance 2 from y is denoted by x Xy.

If two elements u, v are at distance k < n, we denote the unique element at distance 1
from x and at distance k — 1 from y by proj,y, and call this the projection of y onto
x.

The set of all elements at distance ¢ from an element u is denoted by I';(u).

The trace x¥, with x and y opposite elements (= at maximal distance n), is the
set of all elements (t+1 if x is a point) at distance 2 from z and distance n—2 from
y. The point z is said to be regular, if Vy, z opposite z, |z¥ N z*| > 2 = a¥ = 2*.
This implies that two traces ¥ and x%* with x regular have 0,1 or t+1 points in
common.

*The second author is a Research Director of the Fund for Scientific Research — Flanders (Bel-
gium)
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The point z is said to be spanregular, if x is regular and for all points p, a, b with
d(z,p)=2, d(p,a)=n, d(p,b)=n:z € p*Np° [p* Np’| > 2 = p* = p*. One could
give the following interpretation: z is spanregular if = is regular and every point
collinear with x behaves as a regular point in the neighbourhood of .

Given some trace p* with u,v € p*, we have the equivalent notations p* = (uX
v)* = (u,v),. The trace (u,v), through u and v and defined by a is called an ideal
line, if every trace (u,v), through u and v coincides with (u, v),. So we can use the
notation (u,v) — independent of a — if this trace is an ideal line.

A sub-n-gon I of order (s',t") of a generalized n-gon I of order (s,t) is a subge-
ometry of I which is itself a generalized n-gon of order (s',t'). If s = s, " is called
full. T t" =t, I is called ideal. A generalized n-gon of order (s,t) is called thin,
whenever s or t is equal to 1, and is called thick whenever s,t > 2.

2 Definition of ovoidal subspace

An ovoidal subspace A of a generalized 2m-gon I' = (P, L£,1) is a proper non-empty
set of points A C P, with an induced set of lines A" = {L € L | T';(L) C A}, such
that all elements of I' are at distance < m from a certain point of A, and such that
for all elements of I'\(A U .A") at distance < m from a certain point p of A, this
point p is unique.

The notion ‘ovoidal’ is inspired by the ovoids, being special cases of ovoidal sub-
spaces.

To show the likeness between the definition of I' itself and the definition of an
ovoidal subspace of I', we define the distance between a point b and a point set
A as d(b, A) = min{d(b,a)|a € A}. Then we can formally write their respective
definitions as follows (disregarding the order (s,t)):

(1) Given a; max{d(a,b)|b element of I'} = 2m
(2) Given a; Vb element of I' : d(a,b) < 2m
= d unique shortest path between a,b

(1) Given A; max{d(.A, b)|b element of '} =m
(2) Given A; Vb element of T\(A U A) : d(A,b) <m
= 3 unique shortest path between A, b

For T" a generalized quadrangle of order (s,t), an ovoidal subspace is the same
as a geometric hyperplane A, which is defined as a set of points such that every line
intersects A in exactly 1 or s+1 points. One can easily show that A is an ovoid
(VL : |LNA| =1), the point set of a subquadrangle of order (s,t'), st' =t (called a
grid if ¢/ = 1), or the set of all points collinear with a given point.

For I" a generalized quadrangle of order s (i.e. order (s,s)), it is known that
all points are regular (and then I' is known, i.e. T' is the generalized quadrangle
W (s) arising from a symplectic polarity of PG(3,s)) iff all points of a geometric
hyperplane A are (span-)regular. For these proofs we refer to Payne & Thas [3]:
5.2.5 (A an ovoid), 5.2.6 (A the point set of a grid), 1.3.6(iv) (A the set of all points
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collinear with a given point x).

We extend this theorem to generalized hexagons.

3 Main Result

We will use the following notations for the known finite generalized hexagons:

H(q) the split Cayley hexagon (of order (g, q)) over the finite field GF(q),
cfr. [6], par. 2.

T(q,/q) the triality hexagon (of order (¢, /q)) over the finite field GF(q)
with field automorphism o : z — 23.

Main Result

Let T be a generalized hexagon of order (s,t) having an ovoidal subspace A, satisfy-
mg

(x) any 2 opposite points of I' are contained in a thin ideal subhexagon D,

then all points of A are spanregular < T = H(q) or T(q, J/q).

From the proof, it will follow that the condition (x) becomes superfluous in
certain cases.

4 Preparations for the proof of the Main Result

4.1 Equivalent definition of ovoidal subspaces in generalized hexa gons

Lemma 1 Let I' = (P, L,1) be a generalized hezagon of order (s,t). An ovoidal
subspace A is a set of points such that each point of the hexagon not in A, is
collinear with a unique point of A.

Proof. Take € I'\\A. As the distance between 2 points is even, z is at dis-
tance 2 from a certain point p of A. By the second condition, this point p is unique.

Take x € T'. If x € A, it is at distance 0 < 3 from a point of A. If x ¢ A, it
is at distance 2 < 3 from a unique point of A. n

We will use the following properties of ovoidal subspaces of generalized hexagons
frequently.

e Whenever a line meets A in 2 points, all points of the line belong to A —
because they are collinear with two different points of A.

e Whenever two points z,y at distance 4 belong to A, x Xy belongs also to A
(in the other case, Xy would be collinear with 2 points of A, Xy being off
A).
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4.2 Classification of ovoidal subspaces in generalized hexa gons

Theorem 1 An ovoidal subspace of a generalized hexagon of order (s,t) is either
an ovoid, or the set of all points at distance 1 or 8 from a given line L, or the point

set of a full generalized subhexagon of order (s, \/g)

Proof.

1. If every point, lying inside or outside A, is collinear with exactly one point of
A, the subspace A is an ovoid — by definition.

2. Suppose there is a point in A, collinear with a second point of A; this means,
suppose A contains a line L.

(a)

We show that for 2 points of A, their distance d4 measured in A will be
the same as their distance dr measured in I', provided we add to A all
lines N of I with I'1(N) C A. Say z,y € A.

If dr(z,y) < 6, the unique path of length dr between x and y also belongs
to A. It follows that dr(x,y) = da(z,y).

Suppose dr(z,y) = 6. Suppose dr(z,L) = 5 = dr(y, L). Draw the
unique path (x,zxs, 29, xoxs, x3,L). As d(z,x3) = 4 and z,23 € A, we
know that all points of this path belong to A. As dr(y,xzs) = 5, we
can project y onto xxe, and call this projection y'. As d(y,y’) = 4 and
y,y € A, all points of the path between y and 3y’ belong to A. So we
constructed a path in A of length 6 between x and y: dr(x,y) = da(z,y).
For dr(x, L) # 5 or dr(y, L) # 5, the proof is completely similar.

Now we claim that there are two points of A at distance 6 from each
other. Take a point p of I', at distance 5 of L and denote the joining
path by (p, pp2, p2, Paps, ps, L). If p € A, one can find s pairs (p,u),
u € L, with u at distance 6 from p. If p ¢ A, pis collinear with a
unique point x of A. If x = po, then take a point ¢ collinear with
p, but not on ppy. This point ¢ does not belong to A (as p is collinear
with just one point of A), so is itself collinear with a unique point y € A.
As d(x,y) = 6,z,y,€ A, the claim follows. @ If pp # = € ppa, then
(x, zpa, P2, p2ps3, p3, L) belongs to A, and so does p, a contradiction. [c]If
x & ppa, then d(z, p3) = 6.

At this point, we know 2 points of A at distance 6 (in A), say = and y.
So A contains at least one path (x,zz’,2’, M, y',y'y, y) between = and y
(by (a)).

If A contains an appartment, it is a full subhexagon of order (s,t'). By
Thas [5], we know st’> = t. (Using the notations of the article mentioned,
we know P’ = point set of A, V = P and W = ¢. So |W| =d = 0, hence
t = st if s = &) If I has order s, A will be of order (s, 1).

If A does not contain any appartment, we show that A = I'y (M )U's(M).
We show that every point of A is at distance < 3 from M.

Suppose z € A,z € I's(M),proj,z = 2. Without loss of generality,
2 # vy, so d(z,yy’) = 5. As proj,yz = y” belongs to A, there are 2
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paths of length 6 joining z and 3’. This is an appartment, and hence a
contradiction.

We show that every point of I' at distance < 3 from M belongs to A.
Suppose u ¢ A, u € I's(M), proj,,u = u’. Take a point z collinear with w,
at distance 5 from M. As z ¢ A (by the previous section), z is collinear
with a unique point 2’ of A. If 2/ € I'5(M), then there is a pentagon with
edges {2/, z, u, v/, u' M2’} (if d(v, 2’) = 4) or a quadrangle (if d(v/, 2') = 2).
If 2 € 'y (M), it’s even worse: a quadrangle or a triangle arises.

5 Proof of the Main Result

5.1 Organization

By the previous classification, we distinguish 3 different types of ovoidal subspaces
in a generalized hexagon. We will consider each of them separately in the proof of
the Main Result. Our proof is organized as follows:

1. To start with, we let A be an ovoid. As for all known finite generalized
hexagons, it are only the ones with order s = ¢ which possibly possess an
ovoid, we first consider this particular case. In fact, this proof is already
known. The main idea is to count the thin ideal subhexagons D of the given
hexagon I'. This counting argument (1) can be written as follows:

X<B<y

with
X the number of pairs of opposite points through which there exists a D
containing 2 points of A;

(£ the number of pairs of opposite points through which there exists a D;

Y the number of pairs of opposite points.

Whenever | 1| X = 3, each D contains 2 points of A. Whenever |23 =Y, we
know that through each x,y € P, there is a D.

For A being an ovoid in I" of order s, condition |1 | as well as condition |2 | will
be satisfied. Hence the Main Result holds without condition (x).

2. Then we consider A = T';(L)UT'5(L), I of order s. In lemma 2 we do approxi-
mately the same counting as mentioned before, and — as s = t — we conclude
that | 1| and |2 | are satisfied. Hence the second part of the proof of the Main
Result is completely similar to the first part. Here, too, the condition (%) is
redundant.
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3. Let A be the point set of a full subhexagon in the third part. Here we can
prove that I' should be of order s, while A has order (s,1). Indeed, if " of
order (s,t) contains a subhexagon A of order (s,t'), we know t' < s <t (see [6]
1.8.8). As I' has spanregular points, we know ¢ < s (see [6] 1.9.5). So t = s,
and t' =1 ([6]).

Unfortunately, we cannot use the same counting argument (1), as X is never
equal to Y if A is a thin full subhexagon. Nevertheless, we are able to re-
arrange the proof with only half of the countingargument: we assume that
B =Y (this is exactly condition (x)), and we don’t use the (wrong) assumption

[1] that X = 3.

4. But by now, we can also re-arrange the proof in case of A = I'1(L) UT'3(L):
we don’t require s to be equal to t, but we assume condition (*). Only using
condition , we are still able to complete the proof.

5. At last, we can — technically — do the same for A being an ovoid. Suppose
you don’t know anything of the order (s,t) of ', then — assuming condition
(%) — the Main Result is still true. (However, it is known T'(¢, y/q) does not
have an ovoid.)

5.2 Aanovoid, T of order s

Theorem 2 Let ' be a finite generalized hexagon of order s containing an ovoid A.
Every point of A is spanreqular < T is isomorphic to H(q),q = s.

Proof. This proof is given by V. De Smet and H. Van Maldeghem in [2]. [

53 A=T4(L)uUTls(L), I of order s.

For this part of the proof, we will use a similar counting argument (lemma 2) as
used in [2].

Lemma 2 Let T be a finite generalized hexagon of order (s,t), which contains a set
A =T1(M)UT3(M) for which all points are spanregular. Then every thin ideal
subhexagon of T' contains 2 collinear points of A if and only if s =t.

Proof.

1. First we count the thin ideal subhexagons containing M. There are %

sets {u, v} of opposite points in A. As u is spanregular, there is a thin ideal

subhexagon through u and v, named I'(u,v), containing M (see [6] 1.9.10).

But in every ideal subhexagon I'(u,v), one can find * sets {u’, v’} of opposite
s3(s+1)

points in A. So there are =3 thin ideal subhexagons containing M — and

hence containing 2 + 2¢ points of A.

2. Now we count the thin ideal subhexagons D containing two collinear points
u,v of I's(M). Hence M is not a line of D, as there are only 2 points on the
line uv in D. We count in 2 different ways the couples ({u, v}, D), with {u,v}
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a set of collinear points in I'3(M), and D a thin ideal subhexagon containing
uw and v (as u is spanregular, there will be an ideal subhexagon through u).
Denoting the number of D’s by X, it follows that

1 -1
CERIICES VAP

3. Now we compare these 2 quantities with the total number of thin ideal sub-
hexagons in I". We count the pairs ({u,v}, D) with {u,v} a set of opposite
points in I', and D a thin ideal subhexagon containing v and v. Denoting the
total number of D’s by «, and noting that for each set {u, v} there is at most
1 subhexagon D, we know

(14 8)(1 + st + st?)s3t? - 2(1 +t +t3)t? N
2 - 2
The total number of thin ideal subhexagons containing 2 (collinear) points of
A will be less than or equal to a:

(s+1)s*  (s+1)s’(s—1) (14 s)(1+ st + s*t?)s
S 2 sos 21+t + 1) (1)

Equality in both cases is satisfied if and only if t*(t — s)(s — 1) = 0.

For s = t, we can conclude two things: the equality between the first and
second quantity expresses that every D contains 2 collinear points of A; while
the second equality expresses that through every 2 points of I, there is a thin
ideal subhexagon D. [

Corollary

Let T be a finite generalized hexagon of order (s,t), which contains a set A =
'y (M) UT5(M) for which all points are spanregular. Then, through every 2 points
at distance 6, there exists 1 thin ideal subhexagon; through every 2 points at distance
4, there are s thin ideal subhexagons; through every 2 points at distance 2, there are
s? thin ideal subhexagons; through every point, there are s thin ideal subhexagons.

Theorem 3 Let I' = (P, L,1) be a finite generalized hexagon of order s. Consider
the set A consisting of all points at distance 1 or 3 of a certain line. Every point of
A is spanreqular < T is isomorphic to H(q),q = s.

Proof.
This follows from Ronan [4].

Due to Ronan [4] we have to prove all traces of I' are ideal lines. So, for
2 points z,y € P with d(xz,y) = 4,z = = X y we must prove that z*,
w € Iy(x) NTy(y) NTg(2), is independent of w.
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Tk,

X,

Figure 1: X #Y, X =7

From the corollary, it follows that there are s thin ideal subhexagons D; con-
taining = and y. They can be obtained by choosing a point y; on a line
through y at distance 5 from z and they all contain 2 collinear points of
A. Since there is only one trace z* in D; (there are only 2 points on a line),
2 = 2% Yw,w' € Ty(x)NT4(y)ND;. So we have to prove that 2%t = ... = 2%
with w; € D;.

If z ¢ A, we denote the unique point of A collinear with x by a capital letter
X, possibly with some index i (depending on the thin ideal subhexagon D;
where this point belongs to). The same for y ~ Y and z ~ Z. We denote the
line yY by L.

(a) If x € Aor y € A then it is immediate that z* is ideal.
(b) If X =Y = z then it is immediate that z* is ideal.

(c) Suppose X #Y, X = Z.
With every point y; € L\{y} (with y; =Y, without loss of generality) ,
there corresponds a thin ideal subhexagon D; through z,y and y;. First
we look at Dy and the hyperbolic line (x,y); in D;. We will show that
the hyperbolic lines (z,y); in the other D;’s are the same.

Let y2 be a point of L\{y,y1} and let Dy be the thin ideal subhexagon
through z,y and y,. By lemma 2, each D; contains 2 collinear points of
A, say r; and s;. If d(r;s;, 2) = 5 and proj,. ..z = 1y, then d(r;, z) = 4. If
d(rssi, 2) = 3 and proj,. . z = 1y, then d(s;, 2) = 4. If d(r;s;, 2) = 1, then
r; = §; or r; = z, a contradiction. So z is at distance 4 from one of these
2 points; say at distance 4 from r;. Let D; = Ds. Since r, and L are in
D,, also the shortest path between them lies in D,. So the projection of
ro onto L should be ys (as d(re,y) = 6), and we denote 5 X yy by ws.
As d(we,zz) = 5, also the path between ws and x belongs to Dy. Say
T9 = wo X x.

Denote proju.,y1 by x1, and x1 Xy by wy. Suppose that (x,y)s = 2"2 is
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different from (x,y); = 2"*. So there is a line N through z on which the
point a; at distance 4 from w; is different from the point as at distance
4 from wy. Denote a; X w; by b;. One can show (see [6] 1.9.9) that
whenever a trace contains a spanregular point, this trace is an ideal line.
As y; and 7y are spanregular, we have ideal lines (z1,y;) and (z9,ys).
So wi = wi? and wi = wy'. As by € wi = wy*,d(by, w1) = 4. Denote
by Mwy by ¢. As ¢ € wy? = wj, d(c,z) = 4. But d(c,z) = 6 as one
supposed that (z, zas, as, asbs, by, bac, ¢) is a path of length 6. So this is
a contradiction. To solve this, a; should be as, and hence b; = ¢, and
a1, by, by are collinear.

(d) Suppose X #Y,Y = Z. Similar to the previous case.

(e) Suppose X #Y # Z # X. If Z € 2" for some w € I'y(z) NT4(y) NTe(2)
then (x,y),, is ideal since it contains the spanregular point Z. If not, take
a point w € I'y(x) NT4(y) NTe(2) and put proj.zw = t. By case (c¢) (with
x replaced by ¢, and with X replaced by T'= Z), we have that (t,y),, is
ideal, so (x,y),, is ideal. ]

5.4 A afull subhexagon, and conditon () is satisfied

Theorem 4 Let I' = (P, L,1) be a finite generalized hexagon of order (s,t). Con-
sider a proper full subhexagon A of ', and suppose there is a thin ideal subhexagon D
through any 2 points of I'. Then every point of A is spanregqular < T is isomorphic
to H(q),q = s =t, with q a power of 3.

Proof.
This follows from Ronan [4].

By the preliminary remark in lemma 2, we know that I' has order s, and A
is thin.

If s = 2, the result is trivially true by Cohen and Tits [1]. Hence we may assume
5> 2.

Due to Ronan [4] we have to prove that I' has ideal lines. So, for 2 points
x,y € P with d(z,y) = 4,z = x Xy we must prove that (z,y), = 2%, w €
Cy(x) NTy(y) NTg(z), is independent of w.

As we supposed that any 2 opposite points are contained in a thin ideal sub-
hexagon D, there are s D;’s containing x and y. They can be obtained by choosing
a point y; # y on a fixed line through y at distance 5 from . Since there is only one
trace z¥ in Dy, 2% = 2 Vw,w' € Ty(z) NT4(y) NTs(2) N D;. So we have to prove
that 2%t = ... = 2" with w; € D;.

If © ¢ A, we denote the unique point of A collinear with x by a capital letter
X and some index ¢ (depending on the thin ideal subhexagon D; where this point
belongs to). The same for y ~Y and z ~ Z.
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. If x € Aory e A then it is immediate that z* is ideal.

If X =Y = 2 then it is immediate that z% is ideal.

Suppose X #Y # Z # X and d(X,Y) =6,s0 Dy =['(y, X) # ['(x,Y) = Ds.
Attaching indices, we get X = X;,Y = Y;. We denote proj.x, Y2 by xs,
Projyy, X1 by y1, and wy 1= Xy Xyq, wy 1= 2o XY5.

Take a point ws € T's(2X1) NT'3(yY2), ws # 2z, and suppose I'(z, ws) = D; not
equal to D; or Dy. We show that 2"t = 22 = 2"3. As X; € wj and Y5 € w3,
these traces are ideal lines. So wj = w)? = w® and w} = wy' = wy?*. Using
the same arguments (and notations) as in the proof of theorem 3 case (c), we

know that z** = 2"2 and also w3 = w3?. Using this knowledge, we show that

ZW = Z¥s,

Suppose 2" # z"3; this means there is a line N through z on which the point
a; = as at distance 4 from w; (and ws) is different from the point a3 at distance
4 from ws. Denote a; Xw; by b;. In the proof of theorem 3, we showed already
that ai,b; and by are collinear. As by € wf = wi®,d(by,w3) = 4. Similarly
d(by, w3) = 4. But then we have a pentagon, a quadrangle or a triangle, unless
w3 Mby = w3 ™Mby and w3 Xb; ~ b;, i = 1,2. Conclusion: d(by1be, w3) = 3 and
a; = ag9 = as.

Suppose X #Y # Z # X with d(X,Y) = 4, and suppose s > 4. So the path
between X = X; and Y = Y] belongs also to A and we can denote X; XY]
by the capital letter W;. Take a point ws € (I's(zX1) N T's(yY1))\D1 and say
PIojyv; W3 = Y3, Projzx, w3 = 3. Take a line through z, different from zx, zy
or zZ, and project ws onto this line. The projection is the point u. As u ¢ A
(otherwise z ¢ A would be collinear with 2 points of the ovoidal subspace),
u is collinear with a unique point U of A. Suppose this spanregular point
is also at distance 4 from X; and Y;. Then we take another line through z,
we project ws onto this line, denoting the projection and its unique collinear
point of A by v and V, respectively. Now we show that V is at distance 6
from at least one of the three points X;,Y; or U. The points X7, Y;,U define
an ordinary sixgon in the thin full subhexagon A. Suppose d(U,V) = 4 and
T := UXV. As there are only 2 lines through one point in A, T" should be
on the line (U, U X Y;) or on the line (U, U X X;). Say T € (U,UNXY). If
T #UNXY,d(V,Y1) =6. If T = UXY7, V should be on the line (U XY7,Y;)
(as there are only 2 lines through a point in A), hence d(V, X;) = 6. So in
this situation one can find a spanregular point V' = V' at distance 6 from X,
Y1 or U. Suppose d(V', X;) = 6. We now use case (3.) of this proof, for
X1 £V £ 7+ X

First suppose d(ws, V') = 6, and see figure 2. Put proj,x, V' = xs, proj,, X =
V], Projyyrxs = vy, wzXov = v, xgXvl = wh, Xy Xo] = w), xoX V' = w;. By
case (3.) of the proof, 2%t = z¥2 = 25 = 2% for all a € ['s(zx3) NT3(vvs) N
I'(2). As ws and wj are in the same thin ideal subhexagon D5 = I'(z3,v), we
know that (z,v)w; = (7,0)w,. As z,u,v,y € T'2(2) N D3, (T, 0)ws = (T, Y)uws-
SO (T, Yhws = (T, V)ws = (T, V)uy, = (T,0)q, for all @ € Tz(za3)NT3(v03)NT6(2).
This finishes the proof if d(ws, V') = 6.

Suppose d(ws, V') = 4. Then (z,v).;, = (¥,v)w, by case (3.) of this proof.
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4.bis

Figure 2: d(X1,Y1) =4,d(ws, V') =6

Using (x, Y)ws = (T, V)w,, we have the same result as before.
Suppose d(ws, V') = 2. Then V' = v3. As in case (c) of the proof of theorem
3, one shows that (,v)w, = (T,0)w.

Suppose s =t = 3.

As we assumed the existence of five lines through a point in the previous
section, we now investigate the case s =t = 3, for X # Y # Z # X and
d(X,Y) =4. So Xi1,Y] are in the same Dy, and W; := X; XY;. Take ws at
distance 3 from X, and yY1, and define z3 := proj, x, w3 and y3 := Proj,y, ws.
As we must prove (z,y)w, to be equal to (x,y)w,, We suppose Z ¢ (T, )w,
(otherwise the proof is done). As Z is spanregular, x, Z define an ideal line
(x,Z). If y would be in (x,Z), this would imply Z to be in (x,y),, — a
contradiction. For the same reason, = ¢ (y, Z).

Now we look at the fourth line through z, let’s call it L. As (x, Z)and (y, Z)
are different ideal lines, their intersection only contains the point Z. So their
respective intersection points with L are different — and by this named ¢, and
t,, respectively.

Now we consider again the traces (x,y)w, and (z,y)w,. If t, would be in
(x,Y)ws, the trace (x,y),, contains 2 points (x and t,,) of the ideal line (z, Z),
and hence (x,y)w, = (x,Z). This is of course a contradiction. For the same
reason, t, ¢ (r,y),,. We can conclude that |(z,y)w, N LN (z,y)w,| = 1, and
we call this intersection point . We put a; :=tXW; and a3z := t Xws.

As W7 contains spanregular points X; and Y, this trace is ideal . As W™
intersects W in at least 2 points, W;" should be equal to W¢. So a; € W™,
which means d(a1,w3) = 4. If a1 is not on the line tas, there arises an ordinary
pentagon with edges ¢, ay, a1 Mws, w3, asz. So a; is on tas

Now we construct s; := proj,,Wi; s3 := proj,,ws; by := s1 XWy; bs := sgXws.
By a previous argument, neither s; nor ss coincide with Z (because (z, Z) is
ideal and doesn’t contain y). We know that b; € W7 = W so d(by, ws) = 4.
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As there are only 4 lines through w3, and the lines wsxs, wsas, wsys already
correspond to the respective points X1, aq,Y; € Wi, we know that by Mws is
on bsws. But this results in an ordinary pentagon by, s1, S3, bs, b3 X by if by is
not on ssbz. Conclusion: by is on s3bs and s; = s3. So 21 = %3 and this
part of the proof is completed.

5. Suppose X #Y = Z.
Take ws € T's(xX) NT4(y), and say proj.xws = x3. Take a line N through
z, different from zz or zy, and say projyws = vs. As vy ¢ A, vs is collinear
with a unique point V € A, V' ¢ wv3z. At this point, we can use parts (3.)
and (4.) of the proof to conclude that (x,vs)w, = (,V3)w;, ¢ = 1,2,3. As
x,y,vs3 € 'a(2) N D3, we know (2, y)w; = (T, V3)ws, SO (T, Y)w, is ideal.

By now, we know I' = H(q). As I' contains a full as well as ideal subhexagons,
g must be a power of 3 by [6] 3.5.7.

55 A=T4(L)uUTls(L), T of order (s,t), and condition ( *) is satisfied

Theorem 5 Let I' = (P, L,1) be a finite generalized hexagon of order (s,t). Con-
sider the set A consisting of all points at distance 1 or 3 from a certain line L, and
suppose there is a thin ideal subhexagon D through any 2 points of I'. Then every
point of A is spanreqular < T is isomorphic to H(s) or to T(s, 3\/s).

Proof. If s # t, we cannot use lemma 2. But by assuming § =Y (see 5.1.1), we
can re-arrange the (provisional) proof of theorem 3 in the same way as in proof 4:
the new proof only uses the second equality in (1).

Where possible, we refer to the proof of theorem 4.

This follows from Ronan [4].

Due to Ronan [4] we have to prove that I has ideal lines.

For 2% = 2% Yw,w' € Ty(x) NTy(y) ND;: cfr. theorem 4.
For z"1 = ... = 2% with w; € D;: cfr. below.

1. cfr. theorem 4 (1.)

(
2. cfr. theorem 4 (2.)
(3.)
4. cfr. theorem 4 (4.): Suppose X # VY # Z # X and d(X,Y) = 4. So the path
between X = X; and Y = Y] belongs also to A and we can denote X; X Y]
by the capital letter W;. Take a point ws € (I's(zX1) N T's(yY1))\D1 and say
PIojyv; W3 = Y3, Projzx, w3 = 3. Take a line through z, different from zx, zy
or zZ, and project ws onto this line. The projection is the point u'. Asu! ¢ A
(otherwise z ¢ A would be collinear with 2 point of the ovoidal subspace), u'
is collinear with a unique point U of A.

3. cfr. theorem 4 (3
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New for this proof:

We can do the same for the remaining lines through z, to obtain the points
Ut,... U2

(o) If we suppose that none of these points U7 is at distance 6 from X; or
at distance 6 from Y7, then they should all be at distance 4 from X; and Y3,
and hence at distance 2 from W; (as A contains no appartment). So W is
a point of the ‘central’ line L of A. None of the t lines W, X, W1 Yy, Wi U/ is
equal to L. Indeed, suppose W1 U = L. We know Z € A = T'y(L) UT3(L),
so d(Z,W1U') = 3 (as Z doesn’t belong to W1U'). But this results in an
ordinary pentagon. Conclusion: the line L is the projection of Z onto Wi,
and this completes the linepencil I'(W;). So d(Wi,Z) = 4. This means:
Z € 2™ = (x,y)w,. By this, (x,y)w, contains a spanregular point and hence
is ideal.

If on the other hand the assumption (e) is false, i.e. if there is a point U’ at
distance 6 from X; or Y;, then we refer to theorem 4 (4.) for the remaining
part of the proof.

5. cfr. theorem 4 (5.) ]

5.6 Aanovoid, I" of order (s,t), and condition ( x) is satisfied

Theorem 6 Let ' = (P, L,1) be a finite generalized hexagon of order (s,t) contain-
ing an ovoid A. Suppose there is a thin ideal subhexagon D through any 2 points of
[. Then every point of A is spanregular < T is isomorphic to H(q),q = s.

Proof. In a completely similar way as in the proof of theorem 4 — noting that all
points of A are at distance 6 from each other (and hence case (4.) of the proof of 4

cannot occur) —, we prove that I' is classical. As it is known that T'(q, /q) does
not have an ovoid (see [6] 7.2.4), I is isomorphic to H(q), s =t = q. n
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